‘58q suL uel AL ui 20d 6 ?

(A) gl (B) vissid
(C) 2uvui (D) M
(E) Not Attempted

Rrow” el wa-udl 2ave oudl.

(A) HYR (B) AMRUAR
(C) Aw=u (D) Y4
(E) Not Attempted

uZ s sleuRs uglhn ... g121 eafaami 2ud O.

(A) 425 dR (B) A25
(C) via dR (D) vidL wll
(E) Not Attempted |

TFR 2124 g ?

B) Rud w1 e
(D) HilLs ux- €

(A) AEL UYL ER
(C) §AUFILER

(E) Not Attempted
QA A4 s 6913 (Plant) i g siil seu a3 aua 8 i B

87

(A) Was

() wagull

(E) Not Attempted

3 g s 2iis wed YA A U

L oflos (seeds)Hidl Ad staanui wud

(B) sl
@) 2] saulda 1o A5 215 unl Al

ofl Al 8 ?

p = 2P0 100

21’0%

(A) Slar-l JAS i

(C) wal-l Yaus ¥Uis

(E) Not Attempted

AS wRsR-AYS 122 Sla Al usR s4 B 7
(A) -u2s -

() dlslld

(E) Not Attempted '

(B) AlRw3~l Y5 i
D) Huzle Apad-l yus ¢iis

(B) nalas
(D) Hawuasl-

SA-E]

ay 202141 Glsdd 74 widaradla dloL Ra-l | | Pgp— sdl.
(A) dou S12 D 2l oS (B) dlou 1R s1d13-19
(C) lou 512 dea 28 A () dlou £12 da
(E) Not Attempted
3 ' [ P.T.O.



9. ______ havedone work today.
(A) He, few (B) They, something
(©) I, alot of (D) You, nothing
(E) Not Attempted

10.  [yl5a-d sz Sgaal RAA wen striiadinil e @grdt sl AHR1 3l Ald 3uidRa 59)
s ?

(A) AR5 Henu a2 suid) siuie u2aA sue $94
(B) ARl ytdn v2s vg o gesiuid sug s394
(C) Alds uen u2sA ior u2dui GAAA

(D) AlBsL YrdH 825 taior u2slui GAAA
(E) Not Attempted .

T Tada | 1 30 48 66 84 | 102 | 120 | 138 |
elB | 138 120 102 84 | 66 48 30 12
241 6] LRl 4R ASubikis Sedl Ay ?
A) 0 B) 1
©) -1 (D) 0.5
(E) Not Attempted
12. Sl el 253 s A S Gualall © ?
(A) AelBis ®) sRRnus
(C) DS . ' (D) sy

(E) Not Attempted

13, um v [Rrul 4L alrt R w2 o dad uRREA 68 s Ras 5348 7
| (A) sau - 101 | (B) 54M - 184
(C) s44 - 96 B (D) 54™ - 207
(E) Not Attempted .
14. o [Redle-ll e s ad 4g odl ?

(A) 1917 | ~ (B) 1923
(C) 1920 | (D) 1922
(E) Not Attempted -

. 232 W12 WHlid YeeR 3 WEL Yy €2 Feell dly,

(A) wdd (Standard) -
(C) 2R1uUE (Hygienic)
(E) Not Attempted

- (B) Bt wauli (Not standard)
(D) Bt 2udoung (Not hygienic)

SA-E] 4 [.Con




16.

17.

18.

19.

20.

21.

22,

23,

(©) 63862

HASR 2loroudl : 2y 2190 Rig Gl B,

(A) Gelaw veis (B) GumL 2512

(©) IusxndsR : ) anggld AR
(E) Not Attempted

audl 20t @ull 1 e

(A) uy - @B) el

(C) wy e D) [Aen

(E) Not Attempted

Gewent Q8 -l cuus chug allsae DA cafdanidl s €S 18 ?

A) Q.= ) Qx= {(4,B,C, D)
(C) Q,=D, | @) 21l galde 42 WA sus el
(E) Not Attempted |

Gewtet Rdaru RS 2azumi Gene suiaedlg R U ?

A) Bud : (B) Geutgt WL raudl
(C) g4 245 s _ ®) gawd
(E) Not Attempted
are your shoes. I them.
(A) Where, had clean ' (B) There, cleans
(C) Here, have cleaned (D) All, cleaning

(E) Not Attempted

sllydl su g a8 ?

(A) arfla-ug’ B) sales

(C) i U (D) xRRu
(E) Not Attempted '
4 A-8fl22 Bz agai a-l 8L auia asRvizil a2l iR 324 adl ?

A) 2 A-AHlR B) 4 A-&HleR

(@) 8 A-dleR

.(E) Not Attempted

ot 352" -l A AsAQ © ? .

g : o1 QeI

(A) #5120 uRiad- | (B) e P—
. @) 24l cafde Ao Q5L 25

(C) usiag s .

(E) Not Attempted : [P.T.O.
5 i



i Aol s34 YA YD 7
24wy le P=x g+U wd duwad Fuskiet wlau2d |

o - 1
A) f=(x"x)"'x'y ®) f=x'07" X X

© F=x'xy 7 x @) f=(x'x7 X' -
(E) Not Attempted
25, Hdmi quiRl DA sizo) a9,
(A) WA ¥ (complementary) qzgil-l Buani 2218l adi
(B) A A s-l 2uasui awizl aall
(C) WA 8201eel (substitution) W2+l azgil-l Buaui aul aad
(D) w1l eaida 49y sReld
(E) Not Attempted

26. N2 200l 22124 217 A sRAA AL dlou [Asey gl

AL sla
a. vARE-2U1 1. R(AS Hdal
b. 01U . 2. EURIM
c. -ieoilll : 3. wHn
d. auRHIL 4. 41l ;a1
(A) a-1,b-2,c-4,d-3 (B) a-2,b-4,¢c-3,d-1
(C) a-3,b-1,c-2,d-4 ~ (D)a-4,b-3,c-1,d-2

(E) Not Attempted
27.  WHY YW HI3A (General Linear Model) 12+ M-t w001 W12 58 ugl nafd O ?

(A) gty il ugld (B) 34l ugly
(C) Chisquare test L ugld (D) 382 tudaw
(E) Not Attempted

28, AR AU WA A .......... Hisd] Gerg@ B, .
(A) 2asla (Dynamic) (B) 43y (Descriptive)
(C) 2l (Static) (D) X131 (Analogue)

(E) Not Attempted

29, DA asuui uil3d el q 2nvdl,
(st 1ol R d-fl 2Aivilui g vaas A,
(A) Guue (B) Ay
(C) sHuRy - | @) cgAR
(E) Not Attempted o :

SA-E] : 6 , [ Contd.



30. CBR g Y3 -3 20\,
(A) EN %~ €2 B) wel [ €2
(C) el Rax g2 (D) WEL YY ER
(E) Not Attempted .
31. Don’t disterb —_ ,they now.
(A) those, read . (B) them, are reading
(C) their, reads (D) themselves, will read
(E) Not Attempted _
32.  Choose the option which is opposite in meaning to the word ‘sceptical’.
(A) nerous - (B) horrible
(C) hopeful (D) lazy
(E) Not Attempted :
33, 44l [Quas Bewesdl (capital productivity) 2+l Aqqd s W DA-unid 53§ Y v B ?
V = Bewes s3el yeu awidd (value added by manufacurer)
K = 3dl A5 (capital investment)
L = {14 3% 810 (human labour force)
v vV
Tz ® Trx
v v
© 7 ®) = )
(E) Not Attempted
34 Al parll e, wio-eud aisd sl G su wsD B 53 B 7
(A) eruMlEd (B) AnaaumlEa
(©) Rl (D) AvamlE
(E) Not Attempted
B ... B3l 2usfQ sl asiu,
(A) euglaA (B) W WAl edeus@
(©) Reulyd adougfa (D) gniz 2uglA
(E) Not Attelhpted
3.  ‘cuw 4 amdl op2
AU B Brd A 92’ — 2u st sRA UG D ? X |
= ‘il?fl : $§ ::; awdol ;r
(©) Wiy | |
(E) Not Attempted ' e [ P.T.O. ;
. > |
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37.

AU HAH Q1 5] s wyd B ?
(A) Ml

(B) ¥l
(C)wls

| D) sz
(E) Not Attempted

38, B N 2l il Qg w2 wng 2l Ruczivie Juii allsa 8 Y=30+0.7X
osul X = clf{, Y = Gewen (arm 3Rami)
1230 W2 Getg Wizl weiddl (ud 3ol ?
(A) 38.4 amy 3Ry (B) 37.7 aw 3[R
(©) 37.9 A 3y (D) 40.6 @t 3[R
(E) Not Attempted |

39.  Tamsurel him
(A) saw, tomorrow (B) seeing, yesterday
(C) am seen, next week (D) saw, yesterday
(E) Not Attempted

40.  ASHA Asinl Yol vuda el VA 3R via ar JHN aga Qe 3ld 8. 21 e Qad
R8sl gl Y3l wisai 2ud § ?

(A) AU ABR , C B) Moz Swyreu A-s 382 9438 SR

(C) R2 s vl -fla ' (D) % Glsui AU Y3d lu d 65 g1RL
(E) Not Attempted ‘ | |

41, Rauda uaauq allse 3 s 9 ?
(A)y=a+b | (B) y=ax+b
(C) y=ax* +bx+c D) y=ax+b+c
(E) Not Attempted » 4 |

2. ourdni 09 wiasd aadli A yea nert @ ?
(A) Ufld pusend 183 (B) 124t [Bieidl ooy
(©) 3L A3 R4 Ad (D) Ul ugra-ely
(E) Not Attempted

43, v a2l A, B, C Hesl deuant aravL Run yorord DAuuis) SLYANY D ?
(A) P(AUBUC) = P(A) + P(B) + P(C)
B) P(AUBUC) = P(4) + P(B) + P(C) - P(ANB) - P(BNC) - P(CNA) + P(ANBNC)
(C) P(AUBUC) = P(AUB) + P(BUC) + P(CUA)
() P(AUBUC) = P(ANB) + P(BNC) + P(CNA) - P(A) - P(B) - P(C)

. (E) Not Attempted

44. you mind some time for me?
(A) Did, spared (B) Would, sparing .
(C) Do, Spares . (D) Can, spares
(E) Not Attempted

QA -E1

I Contd.



45.

46.

47.

48.

49.

50.

31,

2efl4la Mgl Alori 2 25 Mesf dlor-umi 1000 steuon F2UHEA 10% - Real dawi 213 B, 2
W2 Amount of Inspection (Aol) 321 udlae g wu B 2L 2Aenan 309 du 34

a9l ?

(A) 730 (B) 620

(C) 450 (D) 380

(E) Not Attempted

AL YU HI3A (General Linear Model) #i 2193145 g W27 (A0t 53 €lu g ?
(A) tiguel [daza B) A QR

(C) Wy [Qdaw (D) el [Adw

(E) Not Attempted

yalleer dsd udadll o sddl gl — milBa g€l s oudl.

(A) AHUSEA B) &ldwased

(C) Mdsed (D) adHisEd

(E) Not Attempted

.......... 1 euad e ugl 4 58 asa. :

(A) Rd Resl ugla B) Rofasaal ResdH wsld
(C) 29 [Reel usld D) w0 g5 Meal ugld
(E) Not Attempted

Wrd edlui gedl aqiHl €2 ..., GLRL LY €9,

oul CDR = AIEL YeY €2
CBR = Il ¥4 €3
IMR = 6t Yy €2
(A) CDR - CBR (B) CDR + CBR
(C) CBR - IMR : (D) CBR - CDR
(E) Not Attempted
16 21s Noyarg-Nl uior RalAams (elastic) cud s8ua 3 osuid ...
(A) Buaui adl v21sl g6 suasui adi qzismi WRed 8.
(B) d Agarg 2iagus €l 8. -
(C) Boani adt atiiA 5129 54 2uasui aqil aqe
(D) BHaui adr quiRid @8 54 suasui g218) aqEll
(E) Not Attempted | :
ARuens Aal awn Y3u WA 12 s [@ARRs us-D ugl auu d ?
A) Rrua ad N gl
B) A& A4l ugly
(C) AW o+ usla
D) 4 A4 AR wsld (Dummy variables method)
(E) Not Attempted

SA-E]

= [P.T.O.



52.

53.

54.

55.

- 56.

57.

58.

59.

i ol un “wca)” 8 ?

A) 5 - (B) Ml

(©) sl | (D) 2t

(E) Not Attenipted

€13l 28] W2 MidRd)u e R5ui Elsal HI2 ol adlvil SO 7
(A) 3 B) 7

(R D) 9

(E) Not Attempted

& vzl 40 213 60 104l O, Axsl s2uds () Harmonic mean weus sedl wd 7
(A) 50 (B) 48

(C) 62 (D) 80

(E) Not Attempted

Qi) MR i su 8 ?

(A) 11y ‘ ' (B) & 211 4
(C) 43 | D) § A1 9
(E) Not Attempted

ol 3L ;mom yRarilél D12 W8 su [%'«-um 2l 24 ?
(B) ALIRS16L

(A) 2L
(D) ¥l

(€) adl
(E) Not Attempted

He here the last five years.

(A) has being working, for (B) working, since

(C) has been working, for (D) been working, till

(E) Not Attempted

o[ UL AL oot . A
(A) &R DAL spasiaA Yyl vl (B) €2 ¢ Yollal 22l 2ivay
(C) g2 Ayl ALl v | (D) €2 2 Alvill gz’u‘lvﬂ vl

(E) Not Attempted

9 ouogail art A Rl yiud s el GEPlUlclml a»ua 6. 2y |
2014 a w2l ienan 32dl ' Rl Gur Hadl vl 1l 8

1 1
A4) 3 , B) 3
5
©) — . g
i (D) 3¢

(E) Not Attempted




60.

61.

62.

63.

64.

65.

66.

67.

A A3 : AN + S

(A) Wl ®) Lol

©) Wb (D) 2l caida A% WA 2A5ua Al
(E) Not Attempted .

g lellsni bl v2sl gru Sl day Aellsa ... PR

(A) Y Aslls (B) e Aslls

(©) ¢ 2lells (D) 2@ fells

(E) Not Attempted
e 2lovidl : a2udl 2eui A-u 3ot A €19 Qlaal, Al AuausHl € g 3 4.

(A) yda (B) 21gu

(C) dies D) AS

(E) Not Attempted

I him a long time.

(A) known, since (B) have known, for

(C) know, till (D) has been known, over

(E) Not Attempted _
Qa1 A4 56 uani 35 2 eraslod (Felcos)-l Gualar vy a8 ?

(A) 2N 55 (B) tR¢9L 55

(C) sU3L 3 (D) A% 55

(E) Not Attempted )

aperudi Grizell e 204 udaronzil-l Wl s34 1A WA [Aseunid uaie 2.

(A) 21a¢dll - AlaysL - [ - nausl B) Racdl - (A - usudl - dyst
(C) 212l - [8d - Ady3L - usudl (D) »Racdl - uandd - [ - Adyst
(E) Not Attempted

xP—x+1

i TS —ilf@'naa\j(wu? |

x—-1 X -
Ao | B) 1

3 | 2
© =3 ®) -3

A iefl 4 i 2daed ?
CURAAL AL 2214 WA 24 LAY 1S L AN wa-ll BreusQuidfl it .
(B) -l ™

(A) ARAUAAL ™ )
(D) opgatl-l 2

(C) ~iedgl @t

(E) Not Attempted [ P.T.O.
—— ' 11

SA-E]



68. ‘W 22’ 3f a3 qua B ?
(A) aion 2{q34) Gl arwu
(C) ada onss

(E) Not Attempted
69.  While

®) 2l dladt
(D) gt ellsl

» sh asleep.
(A) reading, fell = (B) reads, fall .
(C) reads, fell (D) reading, falling
(E) Not Attempted
70- % Al €1 23 aeiorell vt At QA AT e flls s
(A) Yru Al (B) o4 Al
(©) € sl D) AR A%

(E) Not Attempted
7L s dqellun R 52 w3 Q wsize URAl 2l 53¢ O.

HEHH3Q W2 R? =097, R2=0.68

ol {3 2 R? =0.93, R2=0.85

2 Auidl 52 W dAl ay Aloy dei ?

(A) ol W3

(B) usg Hidq

(C) udg H3et 21 ol W3 b A0 W
(D) udq Hide 241 oflg W tiluiofl A suer 4]
(E) Not Attempted

72, WAL AL AU B A1 s ud e yol aa) Aeuas ... R
(A) 100% (B) 50% <l il
(C) 50% Hla4R (D) 21l caida Ax VA Asyg, 4

(E) Not Attempted
73. “He is too strong to beat his rival.’ If you remove ‘too’ the answer will be
(A) He is strong to beat his rival.
(B) He is so strong that he could not beat his rival.
(C) He is so strong that he cannot beat his rival.
(D) He is stronger than his rival. '
(E) Not Attempted
74. A sud WA Aedldl didd slu dl wiesll 8 g 2ud ?

(A) A . ‘ (B) urell

(©) Ysel _ (D) 2uesély

(E) Not Attempted .
SA-E] 12
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75.

76.

7%

78.

79

80.

81.

82,

83,

Y A AU 2] A Bl QUEE

(A) B2 (B) A
(C) $5d 8 (D) A48
(E) Not Attempted

3 S
%ll;ll:-{ ¥ HI3A (General Linear Model) Hi biguHIMAA (Multicollinearity)-ll A3 s3 2udl
A !

(A) R [Radus a4l R 2ada dla @) i Rafas 24l R 2Rd €l
(C) »u1R Rgliqs dl 4 Budiawn iy @) w3 Rafas a4l s Budiao €iu
(E) Not Attempted

SISl arlatis AR Al i Radier 20d 8. 2t a2 12 53 Aals [Qaei2udl ag ?

(A) [Buel [Qdrw (B) WiSurt [

(C) ARl [Admt (D) uHwA [Adral

(E) Not Attempted

AARHI A5 QUL Rl 1900 buASinid) 38 buns) wey WAl €l dl d 4212+ BU0 YY € ... Q.
(A) 20 (B) 30

(C) 40 (D) 50

(E) Not Attempted

magazine you are reading now is a popular

(A) The, fortnightly (B) A, forthright
(C) The, fortnight (D) A, fortunate

(E) Not Attempted

Who more marks Lata? ,

(A) will score, then (B) has scored, than
(C) score, then | - (D) scoring, than
(E) Not Attempted

Ram and Shyam farmers __ produce foodgrains in their farms.
(A) have been, whom (B) has, where

(C) will be, when (D) are, who

(E) Not Attempted '

ugld ao- Y sui sl ?

(A) Yol 3v% WR ' (B) GrRYaAWR

(©) elagau: @) el saifde 42 A4 A5 waL 1l

(E) Not Attempted ’
ugld izt 1 8.

Qe A1 AHRAULAL SRAH G5 ..oeneens
(B) VAM
(A) NWCM (D) MODI
(C) LCM
Not Attempted e s —
SYNassamn [P.T.O.

SA-E]
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: e
o s i € asdd e Y3 WP eg !
(B) w8l
D) uaoudl

84.  AWIREL ARUAS gRUA Al 4UR
- (A) adleid)
(C) se81d)
(E) Not Attempted
85 R bxy =—0.4 34 byx = 0.9 dlu dl awgaicidisl Bud sedl A ?
(A) 0.6 (B) 0.36
(C) 0.44 @) -6
(E) Not Attempted
86. Shelooks _ about —

(A) worries, anything (B) worry, nothing

(C) worried, something (D) warrior, everything

(E) Not Attempted
87. Ay Avarinidll 3 ad R:dn cwoll asw ddl Avaii-l s eal a9l ?

(A) 16.5 B) 10
(C) 5.2 _ D)3
(E) Not Attempted
88.  H2dl %dl HNAR-L [:I?J.H (Law of Diminishing returns to scale) AAunidl 56 wRRAMu wad € ?
(A) Gue--il B2 adl A9l AqRA SR8 ‘
B) 518 a2s- ati- 25l Budui atul aad
(C) Y3 Alad 2idR 825 © d s120
(D) AL 2A1e9) 25 825 Gewlet {2 waudiq 1§
(E) Not Attempted
80, Rl SuH AU, — ALSUAAAL USIR Qvil.
A) &ud : B) sdR
(©) sHl | (D) U
(E) Not Attempted

90. s 11+l §4 A2l 4,80,000 & 21 - AELFHER (CBR) 256, ) 91l aayi
divall 2 v 1A dl AIEL U €2 (GFR) = .......... WAL q ] L

(@50 (B) 60
(C) 70 , . (D) 80
(E) Not Attempted '

91. Ashok the ladder when he the roof. -

(A) falls, mend
(C) falled, mended
(E) Not Attempted -

(B) fell off, was mending
(D) falling, mending

SA-E] o e
[ Contd.



puél Bd2t W W w3 2y @,

ro (D)) 6

=0, 1; 2ysesvorer 45

o [AdReud Q2w (variance) 52¢f ayy ?

(4) 10
©) 15
(E) Not Attempted

(B) V10
(D) 30

g, AnBiua wadle ddli e W2 QL dlogua 1yl Al aendl 2uas wale s2dl 158

grami 2udl 8 ?
(A) 2,50,000/-

(C) 4,50,000/-

(E) Not Attempted

gs, 2 (A8 y = a*  x L wdanl Asa g ?

X

+c
(A? loga

a.t+1

x+1

(©)

(E) Not Attempted

(B) 3,00,000/-
(D) 2uas Halgl el

a

+c

¢ loga

D) xa*!

95, MRl AlSAGIAL AcdHi S SUL AFUAL AAS KA L ?

(A) HE uB
(C) A
(E) Not Attempted

B) [Bxaa usa
(D) e

% Qg X uA Y qRd-l usbitisg Yed 0.80 O. ¢ 20 6iA Al oty wrdiflA 2 ad el 3 4
AL Al Sellall 1A 6. A 6L AL usALIHLS Saal an ?

(A) 0.80

(© 0.20

(E) Not Attempted
.

(A) 2u-uad) ugla
(C) ug9 Mgaf- usld
(E) Not Attempted

(B) 0.53
D) 0.12

RN wiss Anqay W) w2 AsuFs usld 54 A soeua 8 7

(B) ulRs Real--l ygld
(D) xlu [gai usld

\___—/______,_"f
SA‘E]- )

15

[ P.T.O.

.



98. A yorug wllsuil G3a Audl.
X+Y=7
3X-2Y=11
(A) X=3,y=7 ®) X=3Y~3
(€) X=5,y=1 (0) X=2,Y=3
(E) Not Attempted
99. DA 2udfl aivenseflui siudladl dvar - dlu A woudl
3,10,27, 4, 16, 64, 5, 25, 125
(A) 3 (B) 4
(©) 10 . (®) 27

(E) Not Attempted

X-8 .
. 4  e— 2
100. 229 A X o Rde 8 Heas 1A 3 Wil [Aaa-diy M Qe 8. A Z=—3 dlu dl 24 72

(Ao g mu ? :
(A) Wy [Adr (B) WHIBid uHey (a8l
(©) 315 Qdf (x2) [QdraL (D) F [Ad=21

(E) Not Attempted
101, 2L ARAO 2352 iR o e dlog-unl 32e IR Al o2 80 2uuami 2ud O ?

(A) 25,000/~ (B) 40,000/-
(C) 50,000/ (D) 60,000/
(E) Not Attempted
102, ax 202140 38 GIRL AAAAN oo 0l ae$ 89020 WF2uH AHAA SAUUT UL,
(A) HI2L (B) dloudll
(C) viicudlst _ D) Quz3l2

(E) Not Attempted
103, Sswur gl @5 56O e sul ?
(A) 2 ®) s
(©) 588 | D) us
(E) Not Attempted
104, DA puda A2 2»191@ ﬁyll&til'ﬂ Aclli vl oroia) gy g Wi ad

DEF, HIJ, MNO, ___
) B (B) RST
© R () SRQ
(E) Not Attempted
——
SA-E] T e———
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105.

- 106.

107.

108.

109.

110.

111.

112.

s 2iscndll 56 ¥t Hadl 8 7

‘(A) AR (B) ¥l
(&L (D) U

(E) Not Aﬁehpted

L Yyaels o B W § elledl " — L causuui A UE {3l 12 2 [Aseunia sl w2 S ?
(A) uHadll (B) Hulos
(C) g : @) Gaufadua

(E) Not Attempted

A-uaioll sur aved Agel dlou el ?

(A) ylBli= B) 6A
(©) Al ) s10El

(E) Not Attempted

y2asid AR 5l Yo J2al uRul glu B ?
(a1 (B) 2
o3 (D) 4

(E) Not Attempted ‘ _

URANL HisSURA Al A5t 2R gl 2L IST 2i2en 519 13 590 L ?
(A) L. AL21R. A4 . @) st diard
(€) 3L usrerilolly (D) Sz it

(E) Not Attempted

g2 a¥ Al 20l s Ba a3 doan O ?

(A) a¢d wu- 3 (B) A& 3R 3

(C) A& wdes 3 ‘ (D) aes deu d

(E) Not Atfempted | -

GDP -l Rsia 62 224 9?

(A) 3y, Axa, Ve euq auRl (B) Gross Domestic Product-il gl&€2

(C) Government Daily Productionil gldgx (D) ¥l calda A Usl 25wl
(E) Not Attempted

HRASIR’ S1euAASHL AR Sl St ?
(A) Gagis2 Asll | B) . 5. 8512 (e 8112)

©) yey | | (D) EAUARAM
(E) Not Attempted

SA-E] B 17



S TR e e, MRS

113.

114,

115.

116.

117.

118.

119.

He thankeq me I

(A) till, have done ' (B) because, did
(D) since, do

(C) for what, had done
(E) Not Attempted

52158 "-g‘%{ R (CPM) 24 g
(A) @it diof ayf ®) dswi Za el
(C) A1 1o D) 2 aad&a Aa 149 Asuz dl

(E) Not Attempted

1 |
Y=_7 dxada Rsatgan? - ,

1

(A) FP . (B) -2x
x

z £}

©) F | « (D) B

(E) Not Attempted
QA1 qfeus wlsel G3a Al

X2+3X=0
A) X=-3,X=-3 B) X=0,X=-3
(C) X=3,X=3 D) X=3,X=0

(E) Not Attempted
Which option is nearest in meaning to the word ‘cautiously’ ?

(A) silently (B) bravely
(C) genuinely (D) carefully

(E) Not Attempted
AHAS Aol 25 ALY LR ARWRL YA s 441 2 WAL YUS 5 900 Wi WY 8. 3uGudl
‘Slar-l Yus s sedl adl ?

(A) 260 "(B) 670.5
(C) 630 _ (D) 380
(E) Not Attempted :
RAUASHL cveveenen EYe N Al v w2l dlu B,
- (A) SR ¥ H2s (B) it 3 ©2s
(C) €1R ¥ L (D) ¥l culda A0 VR Asye 4

- 120.

SA -

(E) Not Attempted
@1_dHi Prime Lending Rate S 63D ?

(A) State Bank of India ' (B) Reserve Bank of India
(C) Canara Bank (D) Bank of Baroda

(E) Not Attempted -

E] 18 | [ Contd.



121.

122.

123.

124.

125.

126.

127.

128,

waied a2 W12 RuHdL (skewness) 21 2151l (kurtosis) il Budl Zecl aa 9 ?

(A) 02113 - (B) 3910

(©) 020 ®) 023 -

(E) Not Attempted

AA-u 4l .......... At A azedl Quas 2iss Anaard Ad 9l

(A) Aluelll Aa " (B) azdl At dd

(©) [2Qua-l Aa (D) @disla aulls@dl fld

(E) Not Attempted :

2011 el o121l waud dpiani 3 LA su eyl gl gl ardl 50 21l ay €9 7
(A) $id, ddl, €18le, aqs (B) $ioL, drdl, 625181, GiusiEL

(C) el andl, damsia, ulrsier (D) ¥l ELSLE, YA, Yd

" (E) Not Attempted

DAuniel 58 5[ 20 u~nena ua- aalRiagiui @ ?

(A) HilaL 2a (B) Y guirti uell

(C) UAsA i3 (D) Rl

(E) Not Attempted

521581 yol ol 458l s W2 53 uRew o@-uHi A 8 ?

A) 2l euldd 218 W4 25 w1l B) sl

(C) uMu : (D) g5

(E) Not Attempted ‘
20223 GURdrt B R0 AHAUR A2l d2dxs AElHl A 9 d 2am s [Aseuni eale O ?
(A) il Ad (Deepor Bell) B) vl ades cards A5y |
(©) ofistar afes s A5y (D) deyR A5 .

(E) Not Attempted . .

2 As U W2 3¢, = t, = 2t,, = 18 €l dl uIA W2 AR uny 26l 23 ?

ol t, = el AHY

t, = [RRIuE] axa

tn = AYUL QY AR AHY |
(A) 10 o . ® 1
Gre ®) 15
(E) Not Attempted
As (2, 5)-) 54 (Rank) 3260 ud) ?
A1 : B) 3

(©) 2 : D) 4

(E) Not Attempted

SA-E] A 19
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e M “lp — 8ood but thesalad ______ -
(A) have tastes, isn’t (B) had tastes, didn’t
(©) tested, don’¢ (D) tastes, doesn’t
(E) Not Attempteq
130. 3xs5 SHAL queq QA8+ él[t%‘{i srragliysd 2ad s VLt AVUL oeneeees &l A3,
(A) 7 ®) 8
©9 ) 15
(E) Not Attempted
1 2
131. A A=[3 6] il =1
G)e ®) -6
© 6 D) 1
(E) Not Attempted
132 a3l [Quus wRdl-u 2igefui NPR 2124 g ? _
(A) N aquid] r azgi-l 1y (B) National Population Register -
(C) Natinal Public Roadways (D) National Population Research
(E) Not Attempted
133. 25 Ai3dls cunni A “STATEMENT” A “TNEMETATS” 13 aal[qtu. dl dui “POLITICAL” A 3dl
Ad ealan ?
(A) LACITILOP (B) LCATILIOP
(C) OPILITACL D) 2] ealdd A WE 25 yay dl
(E) Not Attempted
134, NAunidll 54 asu aloud ? |
(A) 3w e izsHi Aaveedll. B) dfl-s AUR sl Al -l
(C) s AuaL 2sHi Al ol D) el et 2sui A 1wy,
(E) Not Attempted
135. DES il 2aig 2uy] Ui oraual.
(A) Domestic Index of Economical Service
(B) Daily Industrial Economical Service
(C) Directorate of Economics and Statistics - -
(D) Delhi Industrial and Educational Service
(E) Not Attempted
136. wlissieuzaAni [Rad 2doitedl AU sul Yoy égaa SAUHL 2 ¢ ?
(A) Wl PR w2 ) WUl A silyg a3
(©) A R - (0) 2 33y REEE
(E) Not Attempted o

_E T S '
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137.

138.

139.

140.

141.

142,

143.

ugteud HoRiA S s w2 sixl 2w o) ?

Aa) Ban-2 vedl
(€) A €ll¥n
(E) Not Attempted

(B) A sausa
M) s-ia QlRun add

Dr. Vyas, you consulted last week, a practicing physician.
(A) when, will V (B) whose, are

(C) whom, has been (D) who, will

(E) Not Attempted

ad 20214 Al a3 Gl=u y2 Riq eoia wsd Gleane ......... AL SAHL 20,
(A) [Bxaa uea B) ¥y 520R

(C) Gruvis D) Assln

(E) Not Attempted

F [Qd@-u Gualar 2 QA-usisd)l sy Qi i © ?

(A) ANOVA H12 ' B) uHey [QAa Anaa w2
(€) Ruariviuis Anaa w3 (D) MR €N Anaay WS
(E) Not Attempted ' | '

.......... log Ui L2l Avan yel qdf €l S,

(A) Ayel ugx9 (B) 29 balls

(©€) dlR1aRkxn (D) Aynl a2y, a4y valls, AR W
(E) Not Attempted

UHAAL A [QdNdL AR ug Aed ...

(A) Ad1H - B) Ranw

(C) §€d D) [3umg

(E) Not Attempted ' |

He visit us every week, but he now.

(A) usually, came
©) used to, coming
(E) Not Attempted

144, A 6l ullsel 2uden 9.

Y=3X+2

Y =5X

> wlswlAl G3agaud ?
A 2,8

O Q,5)

(E) Not Attempted

(B) used to, rarely comes

(D) usual, comes

®B) (5,17)

(D) (—2, "4)

SA-E]
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145, :
45. ¥R udlraul S1edlsa $a-eui sdes dse Anariz e ouedle 428 !

146.

147.

148.

149.

150.

@A e (B) viog oilell 2%
©) RenRa @) 2% AU
(E) Not Attempted

vty yael w2+ DA eava S8 sl ¢l ? “vin yRal A et saal 2ad= AL Wl”

(A) 3 A.3.2uR.4. A4 @) 44 RiR1
(C) el.uR. d-ln D) SEBUS 1R%D

’ (E) Not Attempted

Z.= 22X +18Y 3qaal [Qduauwf s yau 2l a6 (R Bigl A, 0), B(O, 20),

C(8, 12) 212 D(16, 0) $1u dl Sqaiell QAU uertd Bud ovvevvene .
(A) 0 ' (B) 352

(C) 360 (D) 392

(E) Not Attempted '

apRterel Feizin w2t auidt R AN 2zt il wie W sl e 2l a8 7
(A) C 21dut ' B) R2udw |

(C) p 2udu | (D) np 2udw

(E) Not Attempted

28164 ddaR 56§ AR Gy 8 ?
(A) $12d5 Ye ol (B) SUdRLYE Y
(C) SR YE YriH (D) 2Rl YE Y

(E) Not Attempted

g5 2 Hopdl” apudrl 56 Aeldl daasarn wal © ? |
(A) weard uey , ' (B) A% Ad-ll U
() - sadl (D) ML 2q

(E) Not Attempted



